[ Efficiency vs vertpos |

~ 0.8

................................................

g
> 07
>
& 0.6
c
9
£ 05
[&]
0.4
0.3F
0.2F
0.1
o
T i
a4 L.

||H

0.95

H--

1072

T T T F S

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT_mKFI_ORIG

— —e— DQM_TT__mkFit_MODIF
Efficiend QM_TT_ p

—— /data2/legianni/newRel-PR129/sta/lCMSSW_13_2_0_pre3/src/DQM_TT__MODIFok

~N 1.2

efficiency vs ver

Ratio

0.95}

12

10 20 30
TP vert z (cm)

[ Efficien

cy vs.simPVz |

1_

efficiency vs Sim. PV z

0.952

=20

10 15 20
Sim. PV z (cm)

=i5-10 5




	Contents
	Page 1


